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QUESTION 1

Node 1 in a clustered pair detects that it has lost connectivity to one of its disk shelves. Node 1 is still up, but it cannot
see one of its disk shelves. However, the partner node, Node 2, can see all of the Node 1\\'s disk shelves. Which
feature will cause Node 2 to monitor this error condition for a period of three minutes by default, and then forcibly take
over Node 1 if the error condition persists?

A. Auto enable of giveback

B. Negotiated Fail Over

C. Takeover on panic

D. Cf.quickloop.enable

Correct Answer: B

QUESTION 2

Which two commands would help you troubleshoot a LUN that cannot be accessed by a host? (Choose two.)
A. fcp show wwpn

B. fcp wwpn

C. igroup show

D. lun show -err

E. lun show -v

Correct Answer: CE

QUESTION 3

A 200-GB LUN is created in an empty 500-GB volume with the volume guarantee option set to Volume. LUN reservation
is enabled and the fractional reserve is set to 100 and scheduled snapshots are disabled. Directly after LUN creation,
what is the maximum free space available in the volume?

A. 200 GB

B. 300 GB

C. 400 GB

D. 500 GB

Correct Answer: B
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QUESTION 4

In Data ONTAP 8.1.1, before a LUN can be created a must already be present. (Choose three.)
A. igroup

B. Vserver

C. traditional volume

D. flexible volume

E. aggregate

Correct Answer: BDE

QUESTION 5

Five minutes ago, you performed a single file SnapRestore on a large NFS file. 40% of your NFS users are now
complaining about getting "stale file handles" for the file. Which is the most likely cause of this problem, and the best
procedure to correct it?

A. This might be due to an NFS storage system and client mismatch. Check to see that these users have the same
version of the NFS client that existed at the time the snapshot was taken.

B. NFS users why try to access a reverted file without first reopening it might get a "stale file handle" error message.
Have the users try to reopen the file and see if the problem is resolved.

C. After a single file SnapRestore, NFS users have to reboot their systems. Have them reboot their systems.
D. These users are on a different subnet from the others. Start troubleshooting by checking their subnet.

Correct Answer: B
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